
USES OF THE TABLES. 13

tfi>

^$i^:SfITid^ . - '^^ ^"^"""' °^ ^' ^' 3% yearly for ,o years

nuit eit^-^U. ^f :°/ ^'^i^ '! '"'^'"''- '^° fi"'^ the amount of lo yearly an-nu.t.es o. $1 at 3^ yearly, divide .3439 by the interest on $1 for r Jenodi"
year or .03 ;

^;^J^-=
$. 1.463. (See Table VIII).

Ex. 4.— (^//a;/////, Forms 8, 9 and 10).

convemi:;: u-al^vV^ °' ' ^"^"'^ ^""""^^ °' ^'° '^^ - ^ears, at^% interest,
•I

a =10; //=2o; / = i.o3; ^=.03; jog. r= 01383,72247 ; log. / = 2-4771213

(8) l.'g..=,0-
(9) 2o.log.U .2„„4« (,o) lo-,a=.i.

20 X log. r= 2M7446 r^-rH^^ .''^-I.aoOn 2oxlog. r= 206744S

^-t= ^06 1

1

C l(jg. / = 18338787
log. (

;^«> - I ) = 1.9063960
, a r""

^3 7796333

'ogp!0 = i-74325BB

C' log. / = 1-6238787 « ^^ ^ = -553676

I

'<»g- ('-/«») =16496800

log. a = i

C' log. /= 16338787

log. y»= ^3867446

log. ^ = 34392737

^ = $268,704

Ex. 5.~(Annuify, Forms u and 12).
'

poun^e^^^Sy^'"""^ '" '' ^"" ^•'" ^^'°3«-7S purchase at 5^%. corn-

log. /=Vi»m3"
''" '•°'^'^^' '=-°'36S7; « = 6a; log r = <h«89.0916,

:

log.^=?ii55^ / ^ $602,037

A = $268. 704 Perpetuity or

a 10

7
"^ ~ = 333 333

' -03

.<4 = $268.704

(By Table VIII, $26.8704 k 10 = $268,704)

(11) log. I =
60 X log. r = 8684B49

log- ^ = 1-6466461

r

P^ = -443 '44

'-pi5= 556856

,
l"g- ('-;n») = 17467412

C' log. II =. 2643888

log. F= sikstw

.

log, / = »135M7S

(12) 00 X log. r = 3634649

r" = 2.25660

rh- I = 1.25660

log, (^-w- i)= 0991961

C log. " = 1-9008039

log. r = 3 8098640

log. / = 3-1363473

60 X log. r = 863464»

log. a = 1 6989700

g = $50.00

log. a = 1-6989700

a = $50.00
(By Table III ?^^-^ ^ j^^ ^^^

miT™
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